[ number of missing inner layers |

[ number of missing outer layers |

1g Entries 25562 1g —| Entries 25562
o Mean 0.1009 o ' Mean 1.985
r Std Dev 0.3577 N Std Dev 2.01
AL - — [ B iy SO SO S — [
107E Entries 25562 10°E +Enties 25562
F Mean 0.1009 F : Mean 1.985
o Std Dev_ 0.3577 o . |Std Dev 2,01
S E S S S D PR R o] I A N
10 3 Enmes 25671 10 3 + | Entries
F Mean 0.09988 F ' Mean
I Std Dev. 0.356 B . [ .Std Dev
10 I 1073 e RTETTIE
E E F : : Entrie
F Y 3 o H N Mean
S . . Std Dev
-4 -4 ' L
107F = 1074 e N AR RS A
E Entries 25740 E Entries 25740
L Mean 0.101 L . . Mean 1.986
10‘5 - | Std Dev 0.3581 10—5 L [ .. | Std Dev 2.01
E : E : : I
E Entries 26752 E : Entries 26752
B . . . Mean 0.1002 B . Mean 2.017
Ou)u 7] I I P T TS T T 0 RO T ey | o1ﬂf6 L I I OPS EN
AN IR A I VY
x j- ——c— e [0 b A i i N I ) Tl
S St ol 1 1 1 SR
vodb ] : : Frr ol : :
0 0. 5 1 1 52 2 5 3 3. 5 4 4. 5 5 0 10 15 20 25
—— g e, ggdm{vcum +600evt
—— I
— =
e 1
mean hi{ —— j gé %%igﬁ HORSbTLIERS 1000evt
= 20 o Entries 25562
o Mean 8.923
7] Std Dev 5.422
- S S S S IR SON S B RO SOON SO frveve ETTTETIITReR|
» 3 Entries 25562
= 10 Mean 8.923
% Std Dev
;| Entries
Mean 8.914
102 E Std Dev
25780
I 8.907
5.407
L] A, T'mmMT
1= Entries 26752
: : : : E Mean 8.866
° Wn'uuuuluuuuluuuuluuuul||||I|||| ° L Jogud a1 veed
= : : : : = F
© ol o
hd o LOSE-1--r TlritheE ket tk et
1:_. ...........
0.955
V 5 10 15 20 25 30 35 40

107F

Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
wﬁln 2.164
StegDev 6.079

L
133002

ENHLLL

164
6.079
| |
Entries 133002
Mean 2.164
Std Dev 6.079
Entries 133002
Mean 2.164
Stangles 1 11 gy
2 3
10 0
TP

track hits
[ N of reco track vs pT |

Entries 29340
Mean 0.4895
Std Dev 5.266
""" AR |
Entries 29340
Mean 0.4895
Std Dev 5.266
: 1
Entries 29482
Mean 0.4892
Std Dev 5.253
: |

Entries

Mean

| _Std Dev
agies =
efn 4
tdfDev 5.p4
| |
Entries 30895
Mean 0.5079
Stanglec 1 11 e
B RLREEE o
1+ A

10°




	Contents
	Page 1


